Odoodoobogn
o1 = 0.372x1 + 0.602x2 + 0.602x3 + 0.372x4

2 = 0.602y1 + 0.372xs — 0.372x5 — 0.6024

Pp23
2%0.372 x (—0.372) N

+) 2/ 0.602 x 0.602

©2

0.448% }
cri LN ey csi N Cai v .
BFH2 P2 ?(0.602] X1 T©.372)x2 037y~ 0602 ca £ 8 ol
TF#2 1 =[0.372x1|+0.602xo|+0.60 x5 [+ 0.372 x4 i = 13 B O Hitckel MO
p=2 p=4
q1 ; - q D23
2% 0.6022 /| ~
+) 2x0.3722F | p=1 p=3
1

UL 0b0b0d0b0«00000~00000000O



OoCcC
70000 =) nicy

(2

00000 P, =1+p, 00
OoCC

Puv ‘= E NiCuiCus
7

00000 F,:=4732—N,
N,0 x,0000000000000



DDDDDDDDDD(a—E)chZBcu:O \1 2
LCAO R /fj 0
Y = 01X1+C2X20 H

U2 0000000000000
oooooooooooooopbooooooO

Bco = /Xm&mmDDDDDmy:/X%W&wDDDDDDDDD
00000
Bex =kex B ax =a+kxf000000000
Bco = ao = 000000000

= = goboobogn

000DbO00oOo0bOOooOobOoopO0OOoDOOooOomm

ooopoo0Oon 000

U L. gobogbboobooboobbooboobbo 0000000 bOo0b0o0Oog

00  kex kx ooooooo
kon =1  kg=05 0000

N kg =08 kg=15 0000

kent =1 ky+=2 000000000

koo =1 ko=1 00O

ko =08 ks=2 00000

F  kep=07 kp=3 00000000

Cl  koa=04 kg=2 0000000

Br  kep, =03 kp, =15 0000000




goobooboogoo

1+5
nooooooon 228809, g2 1 =op 22EEEE00 Hy = V5

goboobooboooon

A=1618 — ¢ =0.526 c2=0.851
A=-0618 — ¢ =0.851 co=—0.526

uboboooooboooon

( 0000000000000000 0000000000000 0000000

goboodgoboooon gboobooobooabog
sO0000O00DOO0O0OO

gc =0 gboboobooboobboobooboo
oo

qo =
uad
pbco =

Pco =

e =
\
C—

U3 ugbbooboobobon

= 1.618,—-0.618



UOU0UDO (a— E)e, + Z Be, =0

v(v—p)

@ = c1X1+cax2 +ce3x3+ C4X4N + ¢5X5 + C6X6 3 D

=~

U 4. 0000000
O000O00DO0oO0ooOOo0oopoOoOooOoomm

(a— E)er 00 + fBey 0000000000 +8c =
00000
BeN = ol =
0000
—Aq 00000+¢ 000000O0O00000000 000 +c¢ =

gbooboboobob




ooooo
s

000000 oobooooo

000000 ooooooo

N 050 —6A 203 +9A2 150 —4=0
A+1)A =D =050 =5 2 +1.504+4) =0
A =2.107, 1.167, 1, —0.841, —1,

—1.934

020000 «MOOOO

A C1 C2 C3 Cq4 Cy Cg
2.107 0.343 0.361 0.419 0.521 0.419 0.361
1.167 —0.598 —0.349 0.191 0.571 0.191 —-0.349
1.000 0.000 0.500 0.500 0.000 —0.500 —0.500

csU0O00000OO00OO0O

gc, =00000000000000000000D0O0

gc, =0000000000000000000O00DO

gc, =000000000O0O0O0O00O00OO0O000O000

gN =

Po,c, =1+ pc,c, =

Po,cy = 1+ peyos =

Po,n =1+ pce,N =

N

Us5 00000000



wa+mx+wx+mx+mx+ﬁxv%ﬂg

[a]

A@XImxlmx._.@Q\ — €

—

on+mX|§mlmX|mx+§mvﬁ\/ =2

i

[a\]

(9X — X 4 €X — 2X) 2 = 76

—

(9X — 9X — PXg + €X — aX — s@m\/ S
1

?X\qx+wX\mX+mX\H5@st
T

oobooooboooboboooobobooboobooo 9 o

A P e
Y gz +o
X120+ (X + EX)T6T0 + (OX + 2X)67e0 — TX6G0— = &0
A LA e gLOTT+ o0 (9X — oX — X 4 2X) & = e
2 vl g+mo g+ !
0
g1v8'0 —© GX9PG0 + (X + EX)99¢°0 — (OX + eX)8e 0 — TX99¢0 = T
g="o g=n (9X — oX 4 X —2X) 8 — 5
T
greeT — 0

g RN
GXeee0 + (X + 8X)g6e 0 — (X + 2X)Le7°0 + TXegr0— = 99



